0 12 L D 2RXEEFEER ZI1I0E
FR30FE10AYE (HE2EREH) # 5 E;@EE?F&E 10
5 5 P FE B VIZRE
A0k FEBOTDL29% 2 129
FERK=E HITERAF BERERF 5 3% /i Fj'é % (%% jB T i 9 g;% ,gé‘ fl(f)
3 AN hvA AY o E
10m 1,080 { 1,080 A 0H Iﬁlﬁ%h%ﬁ% HH A
20m 1,000 M 2,268 M 368 H D T % %&H% DIz D =
30mi 2,721 3,456 [ 735 % § % ;jjg 2: ? z % :’% Q';E 75)
50m 4,363 5,832 [ 1,469 1 i !
= CCHEEAE K@
100m 8,467 11,772 1 3,305 M 3R EBER = A
500m | 41,731 M 59,2921 | 17,561 @ 6
: BMELWER HHE 3K
1,000ni | 83,311 M 118,692 | 35,381 M ﬁf § § % %:&2 g i E 2 Béié
FEWE (REEFHAELEST) SEaRELNRR2% F
= = 5 = s e E CICEA3IE X B
ﬁﬁﬁﬂ(;a BITERARM | BEERFERM 243 j”:’}’ FoEEIERE DN 2
10mi 1,080 [ 1,080 M 0M i;%éﬁiﬁﬁéﬁ%%%ﬁ% R(
; 3 K W
20m 2,268 M 2,268 M 0M Eﬁ@‘&?ﬂ%i@i%@é Z
30m 3,456 [ 3,456 M 0M nwoy ?@'{E&ﬁ%@ % N
s0m | 5832H 5832 i ;Téfﬁﬁghﬁﬁ]ﬁ% :’
100m | 11,772H 11,772 8 of| IO TAKY HET l_
500mi | 59,292 59,292 [ 0 o —I==
1,000m | 118,692 | 118,692 [ 0M % ;Oq) % L E %’% i 53
VPN = — = W[ S % %E an i W
Xé\@@&ﬂi—(\ #HEﬂi’.th%ﬁEi&lZ@ﬁﬁﬁﬂbﬁ éﬂ D T 'ff 74 ﬁﬁ a ”[%
7, AT H2 M KD
me T ERY
ERI2F4BNTE (RESERMEB) wnxs TE g /A \,:
FRAR | FRI0E 10 AEAH | SERERH BB - 2 X *}I»
10ni 1,080 M 1,080 M 0M L i%ga% S
20m 2,268 [ 2,700 [ 432 [ I R 75)
30m 3,456 [ 4,320 @ 864 M
50m 5,832 [ 7,560 [ 1728 [ ‘,7:[\‘
100m 11,772 8 15,660 [ 3.888 M &
500 59,292 M 80,460 M 21,168 |
1,000m 118,692 1 161,460 M 42,768 | % )
H{ERAEANDORITEHIC DWW T (ERK 30 £ 10 B ER)
TAGEFERRHI2P S ZEIICHE 2iToTW\WAD., HEARML2PASEEEDTHD T
WZRZWTWET, HERDOHEABOMTIZOVTIE, TORKROEBY TT, J-
10 B 1 BfEERSE T
(@
8 Akst 10 BA&st 12 Afgst
Ee ) 108 g
st BiTEAE  HiEAH
o At 11 At 1 Bigst
HHA | | 17
st RITEERAF FEAM

LHREVODFHS0FLAS



TRKEER#E. REEFHKERAHREDOHE
TokGEER B

- s me FTH0E10BHS THRELAND
RER, TH29E10 AR5 (B e 2 e o o

EAXFERAE 10ME T 1,080

S ) EAGERE EAERAE

fE=ERF 11 ~100m 82.08 M — 1,080 H s . 1,080 4
AR X 10MET 10mM%E T

101 ~ 5,000m 83.16 M4

5,001 m~ 84.24 1

P RBERE B

sowx (Rueg | EAEAHI0MET 1,080/ | % 1188F | - > 1629
BARRST) BRI 11m~ 1188

WEERDERFPEIE 1 »B g 4 @ERKE 20m (2 » B T 40m) EH L 2154 (L&D /- 5858 12 8 % T5HE)

% 30 £ 10 AREDNERAFMTEIRL 158

EAFERAM 10MET) EEFERAM (1M~ 20mM%T) HETH 8% 1 » R ERM 2 » R ERH
1,000 M + 10mMXx 110M=1,100M + 168H 2,268 M 4,536 M

T 32 £4 BREDEAFHTEHREL L5E

EAFEAM (10mM % T) HEFERAR (1M~ 20mM%T) HET 8% 1 » Ao ERR 2 » B ERAR
1,000 M + 10mx 150 =1,500M + 200M = 2,700 H 5,400

MTKEFAM. BEEZHKERARL 22RIC1 EDLEKEDESICIBFERKEICISUTERLET, &
T. 1 PAZEDFERBHIOWTE, FRKEZ2 7D 1 ICLTEAEAMSSUREFERAMOEHIRALELTVET,

WA [Y2R—Ibh—F] Z28&H

2EIIE. ZOXMOALREE. L.
BERERTYA Y LIRA T Y A—LD
EPHVET,

TUR=NLHAH=RIE, INSOTHFA U<
VA= R ESDPIFITRAKEANDREDZ ED
578, W—REIDRHN> 7Ly vELT
2ERIB00ERETEMINTVET,

fmitd, 4H28H () »5~vrFK—L
N—FEEMLUET. EERDIKRZAIL]
ANIKELEFITOT, BOBELLIZS N,

10-203-A001

PRICTRY ) ERBEROIEE | ZNEBTESICH

FuabEid, TAERMERGR (DR ﬂ%%ﬁ%ﬁéﬁﬁ%%
752) ~. R E
BEAIBAT = TEE (AT 2 1) . H. : - =
HH. EREIRIE, HREFT I BEOEHEZRT ﬁ@m¥§%§§ﬁmm

CRTELTHTLESL,
Eﬂﬁ 1804-00-001 :
ARA B = 2 O B ~ 278 5 B com=ro B

B 7 RERFT B0277-46- 1111





